written-08-solns.notebook March 17, 2025

1340 weelk & wWa¥kes Soons muoees

@ W “”‘F’e'-l—' h séuw Lo werike' Co) 1\,
S‘-‘hM Form (a'&-"\) + & ) Mo) waR 9[<-el-c.L -ﬁ(,g(,
sm.wfnj A ntbacepls and s vertee Ch k).

= (x__q_\"-_ 25 = veryey = a‘)""‘)= (q_,—').f‘)\ LI o(

2
$6)=0 =7 (x-1y=75"
= x,’L:“;'J—g =t5— {

x—.ﬂ- Ve > (1( O) X—l"\-j_

{;S’) of.
y=-3 % |(-3,5) s-int

A’Hb/ p(o\= -2\ — (0’_'1/) 3 ‘7-.\'/)"-

=2 %=1

3,0) (#,0)

(b,-zﬂ

(25



written-08-solns.notebook March 17, 2025

o MiLLs
@ Fyr= -3 ybuzx—22
= -3 (u \dyx N -z
o ca(reny #37) = (-3)(ua) — 7L
i ..
Subtrac " g
\ s
‘\4\13 O'FQ e "' 1

= (W) (7,35

Rey)y=0 —~= 3 (y+F) ¥ =0

—_— -3 (,‘4—})1—_-__ ’?’r—
e A =35 2=y 7| (A0 ’ix n
%= —'-H‘-'§'< s

E o) ( —'7-10)




written-08-solns.notebook

March 17, 2025

40
@ A'(-L" ,L_\, Qvgan,‘i"-’lﬂj— A, 'S‘}qw ‘L-e ch—JM

Loy = —2atd2x =22 = -3 (s Mx +29)

/miLtls

—p -94#): KUy ez = x N FF = UGy
-3

fey =
= (‘l"?i'_— 25 = - =~

@ Let @)= x"J—(u’]—t‘n«‘f —uSx” ~200K" 500X { p O =x-=2.

E\J Zua""‘..._f 00) ond A Ma,‘ndh r&) L, f(X) _.._ P@

Syprdeti ¢ Div.5/oN
= o) g Cx) +r &) . USE
T by £ p@GEATTH T, e
2] 1 " I? - s -0 $O° o
2 20

o 9
0 -0 SO
. .3 Y5 -5 -80 o _
The 5495 L6 = (x2)( x5 +13 xH 4—‘*S‘x"-'zs‘>r"-2§0>§ +9
r(y.\—-—D% pld= x-2 1> 4 pau/'m oL L&),

@ Crup. T wonted

a pr) -]'L\«L W&Sh"‘— a f“’C'LDf‘.

£e) = b T 20 % = g &)
T oty Cage, 72("): p(x) = XV #3x 4= 28 x50 j
L£60)
rCx) L W S,
MJ hauls mo -1;-6:)- a . oo
'flw\\]wl\w )

-ajé) 'S a po-‘??ﬁa\..‘pp

j: was q?m“"\) -CQK S,g...("l’&n\} i e jn'k—f P(¥J= *X=-3



March 17, 2025

written-08-solns.notebook

1340 M LS

We use synthetic division to divide f by x - 3:

- 2O

‘B \ n g -~ us so° o
3 H2 163 204 12 1S36
[ oy Gl “8 4y sia \'15'3(9 - """"‘“"“‘J’/l

L= =) (%% i’ 682"+'~lx+—§‘l’2.3 + 15306

7\'3 Slu7;
N3 3 “,L.’ o Q«Mq,\,‘ajﬂ-‘n,\_w@ml wh. b sey3

LY (-3 F 40 01 (F+6BES +46) + i) + 1552

:\VCC'S\%‘Yg‘p%T-PMHJAJ.m’ Olhan ﬂc&) 3 J:‘W‘JOJ 67 x-5.
\$sF6

Fehomone £& s UG/ S +CB8 +Hx 312 + Tx-=

= x° +1M¥x
go —"b\/} fx"m*,a f\d-\—c_‘-’b\. s b-\.?;(ﬁ,% X po‘yho&,‘é\,{

4+
pﬂus ] % +..M/l~ -J—t\.\L VM:SL'S as )‘__s_bo,




written-08-solns.notebook March 17, 2025

‘310 meuLs

Based ').e/‘ feay=0 l

% E-"'\a B'L“V‘ar OS Q 3 ca-v\'l'rp”-(d 67 ’h‘u /@‘J“‘"j
@ behavior
4 X, whige end v d ~
N l N ?J
w .P(»\ (;(Y X —) (\u-'r‘? -C: bored forw\ -

(V7 sleeteh £ u.sn7 AL x- %7.-,«.-.4_..‘45’-5/1—»\.4-’-:(;5‘7

ond  and be havor

*‘l 7Iw, ..'ﬂ..} wmuwcehk DI ‘k»\.' 7‘\?7\ R~ #‘(‘f‘

/ 4 '\ )
—
-< o -

. :\L“ﬂ\/: S

<o \v\ k
-9 (5 2
(Wa')a %' )™
>3 odd Sodd 28 even
Y d“ﬁ“s Sig Sy elugyh'-J'
eross elha~ces C,L
Skelel. Gros \<r5s
A7
N
G50\
r Y N,
X

¢6,0) (2 ,0)




written-08-solns.notebook March 17, 2025

meL S

D(X‘: X'L—?X—\S__ W e Q:.\C( -J'L‘ “",.L"_‘:f @6()
od Mo inder RE) | whew £o0 3 an,dod b, D&).

QusT ENT
\,‘*“qx’h_ Iay" 4—31m AK)
e ——

xe3x—15 17’((’ +UxT H1GF —ne® _gpoxty SO0 x

/
Yye® + 34 ¥ = WS — 200K* +500X

‘3l _ (MQ—_ ..nx‘*-mo:c"’)

3
{%‘ ?Cu;t + a5 x? —200x” +500X
(q.(,\(’ig) —( %x* — 2BX -~ nuo x"")
%0*4?’0 32’3—);;: P40 x¥ + COOX
~ — (T — GLaxT-HBEX)
- \\qO ‘107"»1_ 5'3“?’(
\" 2230 + W = Vs "C\qoq x - S32F ¥ —268635" )
(‘9\ (%’s = S
(4] \G\S™ —
VL w0 R()= (16F2%+28633"
v Rt RemAnWDER
ST L
v g0t
2 +
a7 (s)(1a0a) = 19090
; 1032 . 954T



written-08-solns.notebook March 17, 2025

1340 s
Th abore worll shows +uat

,Clv-\'; DO R G+ R ()
- (“L_q,l-|§_\(¥\{ L\4x31_ G vl +323% + 1907 ) + “0‘.7_2)( 428635

3.6 Previey

_s:&) y"-l-(lx,-'i" ] xq —ufxs-?-c)ox‘ +500X

o) = x= P -1S—
9 2
= X UL v £323% 41909 + xE3x~15"
)
Now, as x—>T o 'E'Z;; —> e 26 £303% 41907
he cavse ' —> 0 a x—>t O
x’:_z)("'s-

63’ 6“1-7./9«.«;5' HeF2AX )



written-08-solns.notebook March 17, 2025

1340

£)= 1~(x—7r)1(x4-;-)3 —_—

X=0 'S 4 w0 a-c Mwlﬁ‘pl-(_\,-)j M:l' ggp_l_,

x:q_h “ w\zq_, qnd

Mm=3

=0 =0

<) v (o, U('L,ﬁ&

—=> X & (-o8
39‘“‘*5 @ Ul C\""'l Hee dﬂhﬂ.fn QQ(J] 'ﬁh j&]:m

-Q(x\ 20

\—'91041'«:40(




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

